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Note: walems 1 and 2 are nearly identical to problems from:section 3.1 in your textbook.
&s we-already cdvered: (some) properties of the:derivitive froin section 3.3, you are allowed to itse them.

1. Find an equatioii’for the tangent line-to the curve y= f(z) = J at z =1, Tlien sketch the curve and tangent
Tinig-tagether.
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2. An object is dropped from the top of o 320—ft-ilngh tower;- Tts: helghl; above: the ground after £ seconds is given
by-s(t) =320~ 1642 feet.

(a) How fast is the-objéct falling at ¢-= 2 seconds? Give units £6 your ansiwer.
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(B) With-what speed-does the objeet hit the ground?

SH—) J \A\w‘\ ‘h ﬁ%‘l}& h’%st “‘JL 9\‘ GL&WL,
RO -\G
VIV 104
204

k- B 0
YU - 200 - [(HE o




8. The City(21) i 15 connected to the rest of the XYplane wotld by an ancient railroad that follows the. graph of
the fanction g = 3a?, for —oo ‘< & < 2. The railroad stops at the poiut (2,1) where the City(2; 1} is located.
The engineers:in. 6 ity(2,1) would like to extend the railroad in the wilderness: territories where .z > 2. But after
the groat war of 6029;, they lost the technology to produce curved railroad. Now they can only produce straight.
railroad. They:still peralat and Have the followinig plan: -extend the railroad to follow the graph of a function

N _z:c. ifx <%
g(a) = { az-+b x> °

whiere a, b are sonte constants to be determined. Can you help-them determinie the constants a,b so that the: train
shifts smoothly at the point {2,1) to:the new picce of railroad they waiit to build?
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